93201 AUTOMATIC FLUSH BOLT TEMPLATE: 939304

FOR WOOD DOOR APPLICATIONS REV. 1 02-22-21
MORTISE
21/4"
g
5/16" 5/8" — 1516"
FRAME & SILL STRIKE s 1[411.?3] (2381 = N s

(2X) #8 X 3/4"[19.1] SCREWS \1[5;/11[

STOP ON FRAME

[1.3]
.

OP AND BOTTOM BOLT HEAD GUIDE

ACTIVE DOOR STRIKE
(2X) #8 X 3/4"[19.1] SCREWS

114" - (TOP SHOWN)
“_ [31.8] “ 127 ¢ (3X) #10 X 1"[25.4] SCREWS
\ I I L_ \ — \
I ‘ ’ 6.4
it < A=,
Y. Al DOOR ¢ ) &) 4 - /
1 [44.5] N N4 /M
B U I NN Z %/ WA s /
Y i i 6.3~ |
- L _\
" 2 5/8" 19/16" 19/16"
0.060 " '
[1.5] —’j' [72/;.2] MORTISE — [66.7] [39.7] [39.7]
e
[25.4] MORTISE
6 1/16"
SQUARE [154.0] MORTISE —
¢ 172" ¢ 1/8"
[12.7] [2.8]
BACKSET
3/4"
[19.0]
| | E !// /! Z : /lr i | TOP OF DOOR
1 \\ ‘ I I I \
1 \\ 11/4" |
[31.8] N J
[31.7] | y
' P& /
/
(2X) 8-32 X 1/2"[12.7] — \
SCREWS
\\r\ \
6 3/8" \\
\ [161.9] |
MORTISE y
\‘\ 71/4" y
184.2
8 1/4" [184.21 /
\ [209.6] Y
%
v/
MORTISE
\ 8 1/2" p 4
[215.9] /
\ y
/
x\ /
/
-
Q\-\§ - W /
kx; a \ x /
|
N |
(2X) #8 X 3/4"[19.1] ﬁ / MORTISE \
SCREWS 1/8" 1
é [3.4] / \
/ = - £ \l
1/4"
R1/4" —
2 [6.4] \
[R6.2] [12.7] MORTISE |
2 /
MORTISE [50.8]
- | o /
[25.4] -~ - - 7
R
- e
NOTES:

1. DIMENSIONS SHOWN ON THIS DRAWING ARE FOR TOP FLUSH BOLTS.

FOR BOTTOM FLUSH BOLTS, INVERT AND MEASURE FROM DAEZDE)
BOTTOM EDGE OF DOOR. AN

PDQ Manufacturing
INCHES 2230 Embassy Dr.
2. DIMENSIONS IN " rmmj - Lancaster, PA 17603
833-273-8732
833-2 PDQTECH
www.pdglocks.com

3. ALWAYS CHECK PDQ WEBSITE FOR THE MOST RECENT
TEMPLATE REVISION AT WWW.PDQLOCKS.COM



